MR A (KT EmEAD O ZRMSHREREHRRIAN

ZRMEGHRE 1 Sv/h]
BIEH BER X5
S S s
5cm 50cm Tm
3A3H X BEh 0.05 0.05 0.05
3F9H A £l 0.04 0.04 0.05
38168 A BEh 0.03 0.05 0.04
3A23H A =1 0.03 0.04 0.04
3A30H A £l 0.04 0.04 0.04

MRFTB A (RFFEEAD) O ERMSHRERERR2A S

ZRMESHR= 1 Sv/h]
BER EH X8
- e . L LS WLE
5cm 50cm im
2H83H A & 0.04 0.04 0.05
28108 A & 0.04 0.04 0.05
28178 A & 0.04 0.04 0.05
2A25H PN & 0.04 0.05 0.05
MR (RTEREA) OZEMMSHREIERR1IA S
ERMEGHRE 1 Sv/h]
HAER 2H XA
Iz " = Htm S HEm
5cm 50cm im
1A6H A Bh 0.06 0.05 0.05
18148 X & 0.04 0.04 0.05
18208 A Bh 0.04 0.05 0.05
182780 A £ 0.04 0.05 0.06

MM A (R TEmA) OERMBSARENEHZR12AS

TR R E SR 1 Sv/h]

BlEB BER X5 —_ — —
* ot i+ s
S5cm 50cm 1m
12H3H X BEh 0.04 0.05 0.05
12H9H A BEh 0.04 0.04 0.05
12H16H A BEh 0.04 0.04 0.05
128238 R £Y 0.04 0.04 0.05




MM A (R TEmA) OERMBSARENEERI1AS

ZRMEGHRE 1 Sv/h]
BIER BER X5
S S s
5cm 50cm Tm
11858 X BEh 0.05 0.04 0.05
118118 A BEh 0.04 0.05 0.05
118188 A BEh 0.04 0.04 0.05
118258 A £ 0.03 0.04 0.05

MR A (KTERA) OERBSARENEHZRI0A S

ERAREGHRE [ 1 Sv/h]
5,5' = E E= E r—
e xR s ot s
5cm 50cm im
1087H A £UY 0.04 0.04 0.05
108158 x £Y 0.04 0.05 0.05
108218 A £Y 0.04 0.04 0.05
108288 A Bn 0.04 0.05 0.05
TR (RTEREA) OZEMBSHEEREHKREIA N
ERMEGHRE 1 Sv/h]
AER 2H P
= - = L oL oL
5cm 50cm im
9828 A BEh 0.04 0.05 0.05
98108 X Bh 0.04 0.04 0.05
981780 X Bh 0.04 0.04 0.05
9824H X Bh 0.04 0.04 0.05
98308 A Bh 0.04 0.04 0.04

MR A (AT EmA) O EZRBSTRENEHERSA S

ZERMEHREZE 1 Sv/h]

AEH BE | R s 7 7
5cm 50cm m
8H5H A Bh 0.04 0.04 0.05
8A13H ) 5] 0.04 0.05 0.04
8H19H A =Y 0.04 0.05 0.04
8H26H A £Y 0.04 0.05 0.05




MR EM A (AT EmA) O EMBSREANTHER7A S

ERIRETHREE[ 4 Sv/h]

AR B8 | XX o+ o+ o7

5cm 50cm im
7818 A 58] 0.05 0.05 0.05
7888 A 2Y 0.04 0.04 0.05
78178 7k £Y 0.04 0.05 0.05
78228 A 2y 0.04 0.04 0.04
7H29A8 A £Y 0.05 0.04 0.05

MRFTB A (RFFEREAD) O ERMSHRERERR6A S

ZRMEGHR= 1 Sv/h]
AER BH | xR o+ 7 o+ 7 ot 7
Scm 50cm im
6A3H A Bh 0.04 0.05 0.05
68108 A 5] 0.04 0.04 0.04
68178 A Bh 0.05 0.04 0.04
68258 xR 2y 0.04 0.04 0.05

MR A (KTEmRAD O ZRMSHRENEHERAS

ZRBSHREE 1 Sv/h]
AlE B BER X5 = s S
5cm 50cm im
5A9H X £ 0.05 0.05 0.05
58148 X 58] 0.06 0.06 0.06
58208 A Bh 0.04 0.04 0.04
58278 A Eh 0.03 0.04 0.04

MRFTBUH A (RFFEEAD) O ZRMSHRERERRIA D

ERIREHRE R 1 Sv/h]
AER BE | X% . . ot
S5cm 50cm 1m
482H x BEn 0.04 0.05 0.05
4A8H A £ 0.05 0.05 0.05
48158 A BEn 0.04 0.05 0.06
48228 A Bh 0.05 0.05 0.05




